
 T-BAR SPACING 

 T-BAR SPACING 

 CEILING OPENING = TOTAL LENGTH OF ALL FIXTURES IN ROW 

3L - 3.00"
4L - 4.25"
6L - 6.25"

3L - 3.75"
4L - 5.00"
6L - 7.00"

 4.39" 

CROSS SECTION VIEW - LG-D & NG-D

ROW MTG 
BRACKET

3L - 3.75"
4L - 5.00"
6L - 7.00" 3L - 3.00"

4L - 4.25"
6L - 6.25"

 4.39" 

CROSS SECTION VIEW - SS-D

ROW MTG 
BRACKET

MAIN T-BAR

MAIN T-BAR

B

 7.00" 

 24", 27", 30", 33", 36", 39", 42", 45", 48", 60", 72", OR 96" 

 2.75"  5.33" 
 2.75" 

PLAN VIEW - INDIVIDUALLY MOUNTED

END CAPACCESS COVER

MAIN T-BAR
7/8" DIA. KNOCK-OUT

NOTE:
INDIVIDUAL UNITS CANNOT BE 
JOINED IN FIELD TO CREATE RUNS.

 FIXTURE LENGTH 

B

B
 FIXTURE LENGTH  FIXTURE LENGTH 

DISTANCE
APPRX. 3FT

VERTICAL
SURFACE

T-BAR SPACING

LG-D (15/16")

3L - 4.125"
4L - 5.375"
6L - 7.375"

NG-D (9/16")

3L - 3.750"
4L - 5.000"
6L - 7.000"

T-BAR SPACING

SS-D (SCREWSLOT)

3L - 3.750"
4L - 5.000"
6L - 7.000"

PLAN VIEW - ROW MOUNTEDMAIN T-BAR

NOTE:
FOR ASYMMETRIC DIRECT (AD) FIXTURES,
MAKE SURE THE JAGGED SURFACE
OF THE LENS TO DIRECTLY UNDER
THE LED WHEN REPLACING THE LENS. 

LIGHT DISTRIBUTION
POLAR CURVE
(REFERENCE ONLY)

JAGGED LENS
PROFILE

 T-BAR SPACING 

 T-BAR SPACING 

 CEILING OPENING = TOTAL LENGTH OF ALL FIXTURES IN ROW 

litecontrol.com
DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF 
YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

INSTALLATION INSTRUCTIONS FIXTURE SERIES: 3L, 4L, 6L MOUNTING TYPE: LG, NG, SS

REV / DATE: 7 / 03/24/2025

PAGE: 1 OF 4

SUPPLIED BY INSTALLERTOOLS REQUIRED

DRAWING: 510640

- SCREWDRIVER/DRILL
- 7/16" NUT DRIVER

GENERAL NOTES:
             1. LEAVE PROTECTIVE WRAPPING ON FIXTURE UNTIL START OF INSTALLATION.

2. REFER TO SUPPLEMENTAL WIRING INSTRUCTION SHEET 510401 WHEN MAKING WIRING CONNECTIONS.
3. ALL CEILING T-BARS MUST BE INSTALLED PRIOR TO MOUNTING FIXTURES.
4. APPROXIMATE WEIGHT OF FIXTURE IS 3.50 LBS. PER FOOT OF LENGTH.
5. INDIVIDUAL UNITS CANNOT BE JOINED IN FIELD TO CREATE RUNS.

- SUPPLEMENTAL CHAIN OR WIRE SUPPORT 



D
E

MAIN T-BAR

SIDE RAIL

WIRE FEED

F

#8 SMS

T-BAR 
RET. 
CLIP

(T-BARS HIDDEN FOR CLARITY)

G

1/4" MS 
& NUT

7/8" WIRE 
FEED HOLE

(T-BARS HIDDEN)

CHAIN/WIRE
SUPPORT

ACCESS COVER7/8" K.O.'S

R

MAIN T-BAR

SIDE RAIL

WIRE FEED

ROW MTG 
BRACKET

1/4" DIA. 
HOLE

U

LENS

CROSS T-BAR

MAIN T-BARS

REMOVE ACCESS COVER FROM FIXTURE HOUSING (1ST 
FIXTURE OF ROW) BY SLIDING THE COVER AND SHIFTING 
IT OUT. REMOVE 7/8" KNOCK-OUT AT DESIRED FEED 
LOCATION.

LIFT FIXTURE (1ST FIXTURE OF ROW) UP NEAR CEILING 
AND BRING WIRE FEED INTO WIREWAY VIA 7/8" HOLE. 
RAISE FIXTURE INTO CEILING PLENUM, SEATING SIDE 
RAILS ONTO MAIN T-BARS. MAKE WIRING CONNECTIONS 
AND REPLACE ACCESS COVER.

ATTACH T-BAR RETAINING CLIPS (SHIPPED SEPARATELY) 
TO EACH SIDE RAIL USING (2) #8 SHEET METAL SCREWS. 
3', 4', AND 5' FIXTURES REQUIRE (4) CLIPS. 6' AND 8' 
FIXTURES REQUIRE (6) CLIPS.

ATTACH SUPPLEMENTAL CHAIN OR WIRE SUPPORT USING 
1/4" HOLES IN ROW MOUNTING BRACKETS/END CAP. 
CHAIN/WIRING IS SUPPLIED BY INSTALLER.

LIFT AND INSTALL NEXT FIXTURE IN ROW PER STEPS 3 - 4. 
LOOSELY BOLT FIXTURES TOGETHER USING (4) 1/4-20 X 3/8" 
LONG MACHINE SCREWS AND NUTS. ROUTE BRANCH 
CIRCUIT WIRES VIA 7/8" HOLES IN END HEADERS. LEVEL 
AND ALIGN FIXTURES BEFORE TIGHTENING FASTENERS. 
REPEAT PROCEDURE FOR EACH ADDITIONAL FIXTURE.

IF INSTALLING INDIVIDUAL FIXTURE, SKIP TO STEP 4.

NOTE:
INDIVIDUAL UNITS CANNOT BE 
JOINED IN FIELD TO CREATE RUNS.

LENS WILL FIT WITH T-BARS 
IN FRONT OF CROSS T-BAR

litecontrol.com

DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF 
YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

INSTALLATION INSTRUCTIONS FIXTURE SERIES: 3L, 4L, 6L MOUNTING TYPE: LG, NG, SS

REV / DATE: 7 / 03/24/2025

PAGE: 2 OF 4

DRAWING: 510640

1

3

2

4



V

DIFFUSER

W

7/8" K.O.'S

ACCESS COVER

Y

TO REMOVE, INSERT SCREWDRIVER OR FLAT 
HEAD PRY TOOL INTO THE END OF THE HOUSING 
AND PULL DOWN.

REMOVE THE END CAP BY REMOVING (2) #8 AS 
SHOWN.
FOR INDIVIDUAL FIXTURE, DO SO AT BOTH ENDS.
FOR ROW, DO SO AT NEAR END OF 1ST FIXTURE 
AND FAR END OF LAST FIXTURE.

LENS REMOVAL END CAP REMOVALACCESS REMOVAL

(T-BARS HIDDEN FOR CLARITY)

REMOVE ACCESS COVER FROM FIXTURE HOUSING
BY SLIDING THE COVER AND SHIFTING IT OUT. REMOVE 
7/8" KNOCK-OUT AT DESIRED FEED LOCATION.

litecontrol.com

DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF 
YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

OPTIONAL INSTRUCTIONS FIXTURE SERIES: 3L, 4L, 6L MOUNTING TYPE: LG, NG, SS

REV / DATE: 7 / 03/24/2025

PAGE: 3 OF 4

DRAWING: 510640

7 8 9



LED TRAY ASSEMBLY

#8 SCREWS

LED TO 
DRIVER WIRES

SAFETY TETHERS

HOUSING

LED TRAY ASSEMBLY REMOVAL

#8 SHEET METAL SCREWS

HOUSING

DRIVER

BEFORE REMOVING LED TRAY ASSEMBLY SEE STEP 7 FOR LENS REMOVAL.

TO REMOVE LED TRAY ASSEMBLY:
REMOVE THE (2) #8 SHEET METALS SCREWS AS SHOWN.•
DISCONNECTWIRE NUTS THAT CONNECT LED WIRES TO DRIVER.•
DISCONNECT SAFETY TETHERS CONNECTED TO THE LED TRAY•

        TO FULLY REMOVE THE LED TRAY ASSEMBLY FROM HOUSING.

(TO REPLACE LED TRAY ASSEMBLY REPEAT THE ABOVE STEPS IN REVERSE)

BEFORE REMOVING DRIVER SEE STEPS 7 AND 10 FOR LENS AND LED TRAY REMOVAL.

REMOVE THE (2) #8 SHEET METAL SCREWS AS SHOWN AND REMOVE DRIVER.•

(TO REPLACE LED TRAY ASSEMBLY REPEAT THE ABOVE STEPS IN REVERSE)

DRIVER REMOVAL
1110

DRAWING: 510640

PAGE: 4 OF 4

REV / DATE: 7 / 03/24/2025

MOUNTING TYPE: LG, NG, SSFIXTURE SERIES: 3L, 4L, 6LOPTIONAL INSTRUCTIONS

DO NOT MODIFY OR ALTER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. IF 
YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100litecontrol.com


	Sheet1
	Drawing View1
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Detail View B (1 : 7)
	Drawing View11
	Drawing View13
	Drawing View15
	Drawing View42
	Drawing View58

	Sheet2
	Drawing View17
	Drawing View19
	Drawing View21
	Detail View E (1 : 5)
	Drawing View24
	Detail View F (1 : 2.5)
	Drawing View27
	Drawing View28
	Drawing View29
	Detail View G (1 : 5)
	Drawing View36
	Drawing View37
	Detail View D (1 : 4)
	Drawing View59
	Detail View R (1 : 5)
	Drawing View62
	Drawing View63
	Drawing View64
	Drawing View66
	Detail View U (1 : 3)

	Sheet3
	Drawing View69
	Detail View V (1 : 3)
	Drawing View71
	Detail View W (1 : 3)
	Drawing View73
	Detail View Y (1 : 2.5)

	Sheet4
	Drawing View75
	Drawing View76


